Wewel: Statistik im Bachelor-Studium der BWL und VWL Musterlésungen zu den Aufgaben
Aufgabe 7.1
(6.11) (7.44) (A1)
a) P(Z<-05) = ®(-05) = 1-®(05) = 1-06915 = 0,3085
(7.46) (A.2)
P(-1<Z<1) = WY() = 0,6827
(6.12) (A.2)
P(-05<7<1) = ®@1)-®(-05) = 08413-03085 = 0,5328
(7.46) (A.2)
P(|Z|>175) = 1-P(|Z|<175) = 1-¥(175) = 1-09199 = 0,0801

(7.50) 6-2 (A1)
b) P( X>6) = 1-F( 6|2;25) = 1_®(T) =1-o(08) = 1-0,7881 = 0,2119

50)

(7 10-2
P( 0<X<10) = Fy( 10]2;25)-F( 0| 2;25) = & —=

5

(7.51) 4 (A.2)
P(|X-2|<4) = ‘P(gj = ¥(08) = 05763

P(|X]|22) = 1-P(|X|<2) = 1-P(-2<X<2) v 1{@(£j—®(ﬁﬂ = 1—[<D(O)—<I>(—O,8)](

)_@[¥j _ ®(16)-d( -04)"

A1

A
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)
09452« 1-0,6554) = 0,6006

1)
- 1-[05-(1-0,7881)] = 0,7119
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Aufg abe 7.1 (Fortsetzung)

(7.50) _(_ _(_ (A
c) P(x<X<0) = 05328 qa(o iZ)J—q{X 4(1 2)j - 05328 qn(xzzj — 0,6915-05328 = 01587

(7.44) (A
o cp[_’%zj — 1-01587=08413 < —’%2 -1 & Xx42 = -4 & x=-6

Nl

(7.5 (A.2)
P(| X+2|<8) = P(|X—(-2)|<8) = 03829 <« ‘PGJ = 03829 < =05 o §=2 (d.h. P(—4<X<0) = 0,3829)



